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QUESTION 1

Which fabric benefit does Synergy have over BladeSystems?
A. eliminates the need for Link Modules

B. supports Fiber Channel over Ethernet

C. eliminates the needfor a Top of Rack Switch

D. provides redundant Top of Rack switches within one rack

Correct Answer: C

QUESTION 2

A customer requests a Proof of Concept for virtualization. To ensure a seamless deployment of virtualization, the
customer needs to evaluate the various hypervisors and the associated management suites that integrate with the
existing HPE server, storage and networking infrastructure.

Which virtualization solutions should the architect recommend to the customer for the Proof of Concept (Select two.)
A. Kitematic by Docker

B. Citrix XenApp

C. Microsoft System Center

D. Integrity VM

E. VMware vCenter

Correct Answer: BE

QUESTION 3

What is a frame requirement for the HPE Synergy Image Streamer?
A. redundant Master modules in each frame

B. a minimum of three Synergy frames

C. fully populated Synergy compute modules in each frame

D. a single Composer in each Synergy frame

Correct Answer: B

QUESTION 4
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Which high availability option is available only for HPE ProLiant Gen9 servers?
A. HPE Ultrium tape blades

B. HPE Smart Storage battery

C. HPE StoreOnce Backup

D. ProLiant System ROM backup version

Correct Answer: B

QUESTION 5

What is a benefit of using an I/O Accelerator?

A. increased virtualization performance

B. optimized for SMB services and workloads

C. more virtual machines per host server

D. increased application storage capacity by moving storage closer to the CPU

Correct Answer: A
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